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. The dlagram shows a right-angled triangle 4BC in which
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« *Given that sin’9, cos’0 and 5 cos’® — 3 sin’0 are in “arithmetic progressmn find the value of

(i) cos®0, (11) the common difference. (N94/P2/2b) S
(a) By first expanding cos(24 + 24), show that cos 44 =1 -8 sin® 4 + 8 sin*4.. -

(b) The diagram shows a triangle of height 2 m. The-
angles 4 and B are such that 4 + B = 45°, By using
the expansion -of tan{4 + B), or otherwise, find the
value of h. (N94/P2/4b, c)

The parametnc equations of a curve are x = sec - 3, y=2 tan 6. (i) Given that the curve
cuts the x-axis at 4 and B, find the length of 4B. (ii) Fmd the cartesian equation of the curve.
(N94/P2/8b)

Prove the identity (cotA tan 4) cos A =cosec 4 -2 smA (J95/P1/5)
Given that %S%Tg; 3 , evalgate tan A tan B. (J95/P2/5a)

Prove the identity m =sin A4 cos 4. (N95/P1/2)

Show that (cosec x — 1)(cosec x + 1)(sec.x — 1)(sec x + )= 1. (J96/P1/7)

Show that —2-oose’d  _ sind-cosd \g6/p/]3p)

cosec?A+2 cot A sind+ cos4 *

. Given that cos 4 = p, find an expression, in terms of p, for (i) tan’4, (if) cos 24, (iii) cos 34.

(N96/P2/6b)
Prove the identity 1£e084 _ 10084 4 oot 4 cosec 4. (J97/P1/3)

I-cosd 1+cosd

. Given that tan 4 =2 tan B, show that tan (4 - B) = s“‘ 23 o= (J97/P2/3¢)

Show that

1+s + sme

=2 sec’0. (J98/P1/8)

AB = h m and BC = 6 m. The point D lies on BC so that
BD =1 m and DC = 5 m. The angle CAD is 45° and the
angle BAD is 0. By using the expansion of tan(® + 45°),
or otherwise, find the possible values of 4. (J98/P2/4b)
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